> #
http://ww. mapl epri mes. com questi ons/ 221823- Mapl e- Too- Sl ow For - The- Cal cul ati o
n- o
> restart; interface(version);
Classic Worksheet Interface, Maple 2016.2, Windows, Oct 21 2016, Build ID 1174570
> [r = 2.8749, a = 0.7747, b = 0.3812, A= 17.4, B = 29000, R = 5.4813, Z =

2];
Parans: = convert (% rational);
parans: = eval f(%;
[r=2.8749,a=0.7747,b=0.3812, A = 17.4, B = 29000, R = 5.4813, Z = 2]
28749 7747 953 87 54813
Params:=|r = ,a= b= y,A=—",B=29000,R=7T",2=2
10000 10000 2500 5 10000

params := [ r = 2.87490000000000, a = 0.774700000000000, b = 0.381200000000000, A = 17.4000000000000,

L B =29000., R = 5.48130000000000, Z = 2.]

> # using Suminstead of sumor add

8*Pi M3/ 2)*r*Rx(Sum((2*r*R)~(2*i ) *pochhamer ((1/2)*n,

i ) *pochhamrer ((1/2)*n+1/ 2,
i)*(Sum((-1)"j*cos(phi)~(2*j)*(Sum((2*r*cos(phi))”(2.*l)*pochhamer (n+2*i,
2*| ) *hyper geon([ 2*j +2*| +1, .5], [2*]j+2*|+1.5], -1)*(.5*Beta(l +.5,
n+2*i 4+l -.5)-sin(arctan(-2z/ sqrt (R*2+r"~2)))"(2*1 +1) *hypergeonm([-n-2*i -1 +1. 5,

| +.5], [I+1.5],

sin(arctan(-2Z/ sqrt (R*2+r"2)))"2)/ (2*1 +1))/ (factorial (2*1)*pochhanmer (2*j +2*| +
1, .5)*(R2+4r"2)M(n+2*i+l-.5)), | =0 .. 100))/(factorial (i-j)*factorial(j)),
j =0 .. i))/factorial(i), i =0 .. 100)):

convert (% rational):
simplify(9%:

eval (% Parans);

codegen[ makeproc] (% [n, phi]):
codegen[optinize] (% tryhard):
codegen[ prep2trans] (% :

K: =%
1575818937 100 | i P (=2-2j 2j)| 100
/423006997 4[383006997 | > | ¥ (-1) o J)cos( (p)( DS,
2644356231250000 iZolj=o R
(21) (-n-2i-1) (-
28749 _ (21)| (383096997 (21 +1) (423096997
= F(2j+21+1) cos(g) = 2 —
10000 10000000 10000000

_ ol n 1 1 _ 3 3| 40000000
Fn+2i+2l)|i+—+—-—|hypergeom| | | +—,-n-2i-1+—- |||+ |, ———————
2 2 4 2 2 2| 423096997

(-n=-2i-1+1/2)

. 1 [383096997]
766193994 \ 10000000

1 . 1 1
rl1+5+n+2i|r{i+3 \ 423006997 / 383096997 1+

1575818937

(21)
] /(i +1)
100000000

/(F(ZI+2)I'(1+j+|)2(2n+4i+2l—1))] J(F(i-j+1)T(1+])) [

/T(n)
K :=proc(n, @)
local i1, i2, i3, result, s1, s2, s3, t1, t19, t2, t20, t21, t22, t23, 125, t26, 127, 128, 129, t3, t30;
global i, j, I;

t30:=1+j;

t29:=i+1,

t23:=20;

{28 := n + 123;



T

1 rar

t21 =20,
t27 :=t21 + 1,
126 := 423096997/ (1 / 2)[(B83096997~(1/ 2);
t19:=1+1/2;
t25:=-n-20 -1,
t22 :=20;
t20 := cos( @);
sl:=0;
for ilfrom Oto 100 do
if 0<-ilthens2:=0
else
t2:=1/4;
2 :=12 /T (129);
fori2toildot2:=-1/4[12;s2:=2+1t2/ (-2 +129) end do;
s3:=0;
for i3 from 0to 100 do s3 := s3 + ((383096997 / 10000000)"t25[ 22701
(423096997 / 10000000)MN(—-i3)T (t21 +t28){il+1/203+1/2lh—-1/4)0
hypergeom([t19, 3/ 2 +t25], [i3 + 3/ 2], 40000000 / 423096997)
+ 1/ 766193994[( 383096997 / 10000000)"(1/ 2 + t25)[T (119 + t28)[T (t19)[119(126) /
(i3 +1t30)"2
end do;
S3 := 4[{ 28749 / 10000)"21[T (122 + t27)[120™M21[83 / (IM(t121 + 2)[{2Ch + 401 +t21 - 1));
S2 :=t20™M22[83[82 / (t30)
end if;
sl:=sl+s2
end do;
sl := (1575818937 / 100000000)"23[E1 / I'(t29);
result := 1575818937 / 2644356231250000037*2[ 51126 / '(n)

end proc

>
>

#Di gi t s: =50;
eval (a*b(-A*K(3, Pi/6)+B*K(6,Pi/6)), parans);
eval f (eval (a*b(-A*K(3, Pi/6)+B*K(6,Pi/6)), Parans));
Di gits: =15;
0.295315640000000
0.295315640000000

Digits:= 15



